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Final Exam, fall 2022

Answer keys:

1~5 BCDCC 6~10 CDDAD
11~16 DCABAD 17~22 ABBCBB
23~27 CDCAC 28~32 BCDDA
33~37 ACCBB 38~42 C/E/B/AE/AD
43~47 A/D/BC/AB/AC 48~51 CCDB
52~55 DBBD 56~59 DABC
60~61 A-B-E-C/ ACFG 62~65 potential/
decorated/
annual/
trap
66~69 strategy/
familiar/
permission/
contrast

Sentence translation 8% @4

70.% AP FHESPF > L ARG IR A GEBEJ) X AL hp + oo
When it comes to Christmas/, some think that day / is nothing but a day/ to
exchange qifts with friends.
1.5 #AmE B2 R AT > A ¢ 4% 7nx 4§ e 2% % (homeless people) » &
BRI E .
| know what to do this year. / | will take advantage of that day/ to help homeless
people, / having them feel loved.
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Part 1 Part 2 Part 3

BACD EDABC ADCBB

ABDC EABCD 'CDCAC

CBAD

BACD

ACBD

BACD

Part 4. Translation @ 4 points x4=16 points BREEEATESL

45. Jay learned English so that she could understand English songs.

46. It is believed that the more friends you have, the happier you are.

47. We are not sure when the party will start.

48.1 like dogs, whereas my boyfriend prefers cats.

49.Subject 50.leave 51.justice 52.interest 53.goes
54 55 56 57
A C B D
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06. B.A.D.D.A.
11.C.D.C.C.A.
16.B.C.D.B.A.
21. D.C.A.D.B.
26.B.C.D.C.A.
31. D.A.C.D.A.
36. D.A.C.C.C.
41. A.D.A.C.B.

46. D.C.B.A.D.
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1~5 6~10 11~15 16~20 21~25
1:BCD 6:D 11 : DE 16 : BC 21 : BCDE
2:B 7 : AC 12, G 17 : BE 22 . BDE
3:CD 8:E 13 4B 18 : ABC 23 : BD
4 : AC 9:AD 14 : ABC 19 : CD 24 . C
5 :BC 1:0::4CE 15: AD 20 : BD 25:D
Z.H%E (B8 B2 #1088, 484520 44—8F 0.8 HME: 1.6 =ERE2 L)

26~30 31~35
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29 : AD 34:C
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